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Mother's Arithmetic • Time & Work

Left work after.
1. A, B and C can do a job working alone in 50, 75

and 20 days respectively. They all work together

for 4 days, then C quits. How many days will A

and B take to finish the rest of the job?

A, B C 50, 75

20 

C A B

(SSC CGL Mains 2017)

(A) 20 (B) 30

(C) 18 (D) 24

2. If A, B and C can do a job working alone in 77,

143 and 55 days respectively. They all work to-

gether for 10 day, then B quits. How many days

will A and C take to finish rest of the job?

A, B C 77, 143 55 

10 B 

A C 

(SSC CGL Mains 2017)

(A) 18.12 (B) 19.83

(C) 17.17 (D) 19.19

3. A, B and C can do a job in 6 days, 12 days and 15

days respectively. After 
1

8
 of the work is com-

pleted, C leaves the job. Rest of the work is done

by A and B together. Time taken to finish the

remaining work is

A, B C 6  12 15 

1

8
 C 

A B 

(SSC CGL Mains 2013)

(A) 
5

5
6

 days/ (B) 
1

6
4

 days/

(C) 
1

3
2

 days/ (D) 
3

3
4

 days/

4. 3 men A, B and C can complete the work in
10, 12 and 15 days. A, B, C start work together
but A left the work after two days. and B left
the work 1 day before the completion of the
work. In how much time the whole work will
be completed?

3 A, B C 10, 12 15

2 A B 

1

(A) 
8

5
9

(B) 
8

2
9

(C) 6 (D) 5

5. 3 men A, B and C can complete the work in

1
11

9
, 

1
9

11
 and 11 days. A, B, C starts work

together, A and B left the work 2 days before
the completion of the work, then the whole
work will be finished in how many days?

3 A, B C 
1

11
9

, 
1

9
11

 

11 

A B 2 

(A) 
7

3
15

(B) 
13

4
16

(C) 5 (D) 7

6. A, B and C can do a piece of work in 20, 24
and 30 days respectively. All three of them be-
gan the work together but B left 3 days before
completion of the work. In how many days was
the work completed?

A, B C

B

(A) 7 (B) 10
(C) 12 (D) 9

7. A, B and C can complete a work in 8, 16 and
24 days respectively. They start the work to-
gether and A works till last moment . If C leaves
the work 2 days before and B leaves one day
before the completion of the work, in how many
days the work will be finished?

Time & Work
(Type-4)
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A, B C 8 16 24

A 

C 2 B 

(A) 8 days/   (B) 5 days/

(C) 6 days/ (D) 7 days/

8. A, B and C can do a work separately in 16, 32
and 48 days respectively. They started the
work together but B leaving off 8 days and C
six days beofre the completion of the work. In
what time is the work finished?

A, B C 

B 

C 

(SSC CGL Mains 2016)

(A) 10 days/ (B) 9 days/

(C) 12 days/ (D) 14 days/

9. A, B and C can complete a work in 20, 24 and
30 days respectively. All three of them starts to-
gether but after 4 days A leaves the job and B
left the job 6 days before the work was com-
pleted. C completed the remaining work alone.
In how many days was the total work completed
?

A, B C 20, 24 30 

4 

A B

C 

(5 August 2017 – Shift : I)

(A) 10 (B) 12
(C) 14 (D) 16

10. A, B and C can complete a work in 
1

4
6

, 
1

3
3

and 
1

2
2

 days respectively. All three of them

starts together but after 2 days A leaves the
job and B left the job 3 days before the work
was completed. C completed the remaining
work alone. In how many days was the total
work completed?

A, B C
1

4
6

, 
1

3
3

1
2

2
2

A B 3

C

(A) 
1

5
35

(B) 
1

3
35

(C) 
1

2
35

(D) 
1

4
35

11. S, T and U can complete a work in 40, 48 and 60
days respectively. They received ` 10800 to com-
plete the work, they begin the work together but T
left 2 days before the completion of the work and U
left 5 days before the completion of the work. S has
completed the remaining work alone. What is the
share of S (in `) from total money ?
S, T  U 40, 48 60 

` 10800 

T 2 U

S 

S (` )

(A) 4000 (B) 4320
(C) 4500 (D) 4860

12. A, B and C can do a work separately in 18, 36
and 54 days, respectively. They started the
work together, but B and C left 5 days and 10
days, respectively. before the completion of the
work. In how many days was the work finished

?

A, B C 18, 36 

54 B

C 5 10

(A) 13 days (B) 12 days

(C) 14 days (D) 15 days

13. A can complete a piece of work in 7 days and
B can complete the same work in 12 days. A
and B work together for 3 days, C alone com-
pleted the remaining work in 9 days. how many
days C will it take to complete the same work

entirely?

A 7 B 

12 A B 

3 C 9 

C 

(A) 28 days (B) 21 days

(C) 14 days (D) 35 days

14. A alone can complete a task in 10 days. A and
B worked together for 3 days, after which C
replaced B. A was 50% more efficient than C.
After A and C had worked together for 3 days.
13% of the task was incomplete. In approxi-
mately how many days can B (working alone)
complete the entire task?

A 10 A B 

3 B C 

A, C 50% A C 3 

13% B 

(A) 43 (B) 64
(C) 12 (D) 20
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1. (A) A     50

B     75

C     20

150

3

2

7.5

4 day work of (A + B + C) = 12.5 × 4 = 50.0

Remaining work = 150 – 50 = 100

A + B can do = 
100

5
 = 20 days

2. (B) A     77

B     143

C     55

5005

65

35

91

10 day work of A + B + C = 10 × 191 = 1910

A + C can do remaining work = 
3095

156
 = 19.83

days

3.(C)     A       6

B     12

C     15

60

10

5

4

1

8
 of work = 

60

8
 = 

15

2

Remaining work = 60 – 
15

2
 = 

105

2

A + B can do = 
105

2
 × 

1

15
 = 

21

6
 = 

7

2
 = 

1
3

2

4.(A)      A     10

B     12

C     15

60

6

5

4

 6 × 2 + 4(x) + 5 (x – 1) = 60

12 + 4x + 5x – 5 = 60

9x = 53

x =
8

5
9

5.(B)        A

1100

99

121

100

100
9

B

C

100
11

11

(99 + 121) (x – 2) + 100x = 1100

           220(x – 2) + 100x = 1100

         220x – 440 + 100x = 1100

                             320x  = 1540

x =
13

4
16

6. (D) let the work completed be = x days
A, B and C can do a work in 20, 24 and 30 days

A, B and C can 1 day work = 
1

20
, 

1

24
 and 

1

30
 days

B let 3 days before completion of the work
then B's can do a work = (x – 3) days

All three can Complete work = 
 3

20 24 30

xx x
  =1

= 
6 5 15 4

120

x x x  
=1

= 15x – 15 = 120
= 15x = 135
     x = 9

7.(B)       A       8

B     16

C     24

48

6

3

2

6x + 2(x – 2) + 3(x – 1) = 48

6x + 2x – 4 + 3x – 3 = 48

11x = 55               x = 5

8. (A)      A — 16

      B — 32

      C — 48

6

3— 96

2

6x + 3(x – 8) + 2(x – 6) = 96

6x + 3x – 24 + 2x – 12 = 96

                             11x = 132

                                 x = 12

9. (C) Let the work completed be = x

A.T.Q.  A, B and C can complete work

= 
4 6

1
20 24 30

x x

= 
24 5 30 4

1
120

x x

9x = 126

x = 14 days

10.(C)A

50

12

15

20

25
6

B

C

10
3
5
2

12 × 2 + 15(x – 3) + 20x = 50

      24 + 15x – 45 + 20x = 50

                        35x = 95 – 24

                        35x = 71
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                        x = 
1

35
 days = 

1
2

35
 days

11. (D) 6 S 40

5 T 48 240

4 U 60

Let work get completed in x days
 6x + 5 (x – 2) + 4 (x – 5) = 240
 15x = 270
 x = 18 days

So, S' wages = 
18 6

240
× 10800

= ` 4860
12. (A)

B work = 5 × 3 = 15
C work = 10 × 2 = 20
total work = 108 + 15 + 20 = 143

work done = 
143

11
 = 13 days

13. (A)
A 7

B 12

12

7
84

A + B, 3 days work = 19 × 3 = 57
Remaining work = 84 – 57 = 27

C's efficiency = 
27

3
9

C = 
84

28days
3

14. (A) Time taken by C

= 
150

100
 × 10 = 15 days

Time taken by B = x days

ATQ,

A's 6 day's work + B's 3 days work + C's 3

days work = 
87

100

 
6 3 3 87

10 x 15 100


3 87 6 3

x 100 10 15

= 
261 180 60 21

300 300

21x = 300 × 3

x = 
300 3

21

= 
300

7
 = 43 days


